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1 Convert to degrees: (X’F)
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2 Convert to radians in terms of W ( | 80
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3 Change to radians, correct to 2 decimal places: [ 4 X )
a 56° b o8° ¢ 127° d 289° e 312°
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4 Change to radians, correct to 2 decimal places: 120
a 1834 b 35°1Y ¢ 101°56 d 8829 e 50°39

-0.22 - 0.6] = 1,78 = .54 -0.88
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5 Convert each radian measure into degrees and minutes, to the nearest minute: [)( -,__.8[:)
a |09 b 0768 c 116 d 0wy e (.3

=62°01" o’ =628’ =343’ =18°20
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ALL EXACT VALUES FROM ANGLES IN RADIANS
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1 Find the exact arc length of a circle with:

a radius 4 cm and angle subtended e = 4T om
b radius 3 m and angle subtended T e =T ¥ P -
; z
¢ radius 10 em and angle subtended =4 e_ =85r x 10 = _Z_'S- LU
6 & 3

2 Find the arc length, correct to 2 decimal places, given:
a radius 1.5 m and angle subtended 0.43 C=1.5x 0.43 = 0.645 M
b radius 3.21 cm and angle subtended 1.22 e =1.22x 3.2 = 282 m

3 The angle subtended at the centre of a circle of radius 3.4 m is 29°51". Find the length

of the arc curt off by this angle, correct to 1 decimal place. )
' 0 - 29°51 x 2t x 3.4=|.Fm
360

4 The arc length when a sector of a circle is subtended by an angle of — at the centre is

o)
3—;1 m. Find the radius of the circle. n ::_e_, - STF/Z- =3 _6.2m
- 27 é ’“75'

5 The radius of a circle is 3 em and an arc is “— cm long. Find the angle subtended at the
- . /
centre of the circle by the arc. Q 2T,
r 3 21

7 A circle with area 60 cm? has an arc 8 cm long. Find the angle that is subtended at the %
Loy af Tr*= 60 aor= KO

centre of the circle by the arc.
T
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8 A circle with circumference 124 mm has a chord cut off it that subtends an angle of 40°
at the centre. Find the length of the arc cut off by the chord.

Irr=126 o r=12¢ _ 62
2m mw
e_z-n—rx 40 _ 27x 62 _ 1244 wa
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1 Find the exact area of the sector of a circle whose radius is:
b 3 m and the subtended angle is .

3
Al

a 4 cmand the subtended angle is

Y e
¢ 10 emand the subtended angle 1s = d 3 cmand the subtended angle 1s 30°

: 2 O
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A- %20 oA-4xm-8r b) T c)p_zx(_@;lzs:v AA-Tx3%x30 =5
z z 2 L ‘6] 3 360 4
10 The area of a sector is =— em™ and the arc length cut off by the sector is . S—
10 5
Find the angle subtended at the centre of the circle and the radius of the circle.
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16 Arc BC subtends an angle of 100° at the centre .4 of a circle
with radius 4 em. Find the perimeter of sector ABC.

S N
ABC=2x4¢ + B(C = &+ &C

A
BC:_@_)(ZTFKQ:A)IT‘ L T om
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_8+20 + _ o
8o ABC - L=~ 1498 “pon

17 A wedge is cut so that its cross-sectional
area Is a sector of a circle with radius 15 ¢m
5 « JC
and subtending an angle of A the centre.
D)

n
Find the exact volume of the wedge. 6
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15 cm




14 a Find the area of the sector of a circle with radius

" x
4 cm if the angle subtended at the centre is =

b  Find the length of BC to 1 decimal place.

¢ Find the exact area of triangle ABC.

d  Hence find the exact area of the shaded minor
segment of the circle.

9 A-2r0 - 4 x " _ 2T
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A} Soded area = GW 2w -4z

15 A triangle OAB is formed where O is the centre of a circle of

radius 12 cm and A and B are endpoints of a 15 cm chord.

a Find the angle subtended at the centre of the circle,
in degrees and minutes.

b Find the area of AOAB correct to 1 decimal place.

¢ Find the area of the minor segment cut oft by the
chord, correct to 2 decimal places.

d  Find the area of the major segment cut off by the

chord, correct to 2 decimal places.
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